THMOEE

BBV IEFANLER—ER

o ETE BiE B | gn| s
I% 4% BRGERL%| 7 | Poa | BT | mER 254 e | aem (P2 THER | aasm
ZRE B | awn  |* 2
ERBRONER ENEARR) [BACETNE [AB | 1594000] R5105 | BREAR |1 (BT Xbha 1,545,000 B2E
% — 2 (A MEEE 1540,000
Rb.12.15 3. (BR) TR 1,520,000 &AL 1,672,000
4.
5.
6.
7.
8.
9.
10.
NG AHTERFEY | BE 1,327,909 | R5.10.10 | H=#HBER | 1. AEE—45—X 1,307,000 e
2— — 2. (B)x7—1B8E 1,298,000
R6.5.20 3. (B)A—r7=8 1,270,000 &AL 1,397,000
4. MBE—HR—ZR 1,288,000
5. ARE—HR—R 1,299,000
6.
7.
8.
9.
10.
=ERVTGEKRTBERL | ZER T BHE=E 3,060,000| R5.10.10 | EMI/KER [ 1. HREE (k) BHE 2,900,000 &AL 3,190,000 | #54&%H:
= R6.10.11 2. (R)7A+—R3—RL—3v 2,980,000
R6.1.31 3. BETE(H) hpEEm 3,017,000
4 BE TR (W) LR 2.890,000
6. FKEH () 2,990,000
6.
1.
8.
9.
10.
FAEERLS LEAHKE [ZBE=E| 7150000 | R51012 | BRE |1 EREECGH 7,090,000 BEEF
R6.10.13 2 NERE(H) 7,120,000
R6.1.31 3. (B)k/RAE 7,000,000 &AL 7,700,000
4. (B)ERM 7,086,000
5.
6.
7.
8.
9.
10.
ERMERMELS PER B LIHR N 11,870,000 | R5.10.12 BEAR 1. (A)HEHE 11,700,000 &AL 12,870,000 | #EH&HES
R56.10.13 2. (B)AHEEHR FER
R6.1.31 3. (B)ABRE 11,800,000
4. (BR)FUKUI 11,860,000
5. () 795 E
6.
7.
8.
9.
10.

1/1

R5.10.4



